Think of angular motion the same as you think of linear motion, only instead of distance we have angles, instead of velocity we have ANGULAR velocity and instead of linear acceleration we have angular acceleration.

Because of this parallels we can write the angular equations of motion in the same form that we write the linear equations of motion.

For example for linear distance we have:
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Where a is the acceleration v0 is the initial velocity and x is the displacement.

For angular motion just replace 

· “distance” with “angle” (denoted ) 

· “velocity” with “angular velocity” (denoted ) 

· “acceleration” with “angular acceleration” (denoted )

So the previous equation becomes:
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The same way we can convert the equation for velocity. While linear velocity can be expressed by:
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The angular velocity is given by:
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Tnd this is the equation we are going to use to solve the problem. In our case the initial angular velocity is 0=7290rpm, our final angular velocity is and the time is t=3.67sec. 

We then solve for But first lets convert the units of the angular velocity from rpm to rad/sec:


[image: image5.wmf]sec

41

.

763

sec

min

60

1

2

min

7290

0

rad

rev

rad

rev

=

´

´

=

p

w


And now, solving for :
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This correspondence between the linear and the angular equations can be extended to other physical quantities as described in the following table:

	Quantity
	Linear
	Angular

	Distplacement
	Distance [m]      x
	Angle [radians]    

	Speed
	Linear velocity [m/s] 
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	Angular velocity [rad/sec]
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	Acceleration
	Linear Acceleration [m/s2]      
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	Angular Acceleration [rad/sec2]
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	Mass
	M [kg]
	Moment of Inertia I [kg m2]

	Momentum
	Liner momentum P=Mv
	Angular momentum J=I

	Force/Torque
	F=Ma   
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	Torque   =I
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	Energy
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